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ELECTRICAL ENGINEERING

The function of a starter in a D.C. motor is to

(A)  Control its speed

(B)  Increase its starting torque

@) Limit the starting current to a safer
o value

(D)  Reduce armature reaction effect

In regenerative breaking, the motor energy-

18

(A)  Dissipated in armature heating
(B)  Dissipated in winding losses

‘p Returned to the supply mains
(D)  None of the above

The two winding of a transformers are

(A)  Conductively linked

B - Inductively linked
(C)  Not linked at all
(D)  Electro statically linked
A transformer transforms
(A)  Voltage
(B) Current
B  Voltage and current
(D)  Frequency
The transformer efficiency will be
maximum at a power factor of .
(A) 0.8 Lead
@)  Unity
(© 0.8Lag
(D) 0.5 Lag or Lead

Why is the core of the transformer built up
of the laminations ?

\:/El) To reduce eddy current loss
(B) For}ponvenience of fabrication
() Na ’speciﬁc advantage
(D)  For increasing the permeability
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ELECTRICAL ENGINEERING

The residual magnetism of a D.C. shunt
generator can be regained by

®. Connecting the shunt field to the
battery

()l?, Running the generator on no load
for some time :

(C)  Grounding the shunt field

(D)  Reversing the direction of rotation

of the generator

With the increase in speed of a D.C. motor

(A) Both back emf as well as line
current increase

(B) Both back emf as well as line

: current fall

'/ Back emf increases but line current
fall

(D) Back emf fall and line current
increases

The direction of rotation of a D.C. shunt
motor can be reversed by interchanging

(A)  The supply terminals

(B)  The field terminals only

(C)  The armature terminals only
\_jl Either field or armature terminals

The torque - speed characteristic of a D.C.,
shunt motor is

(A) A rectangular hyperbola
A drooping straight line

(@) A parabola

(D)  None of the above

If N is the speed of a D.C. series motor
and I, is the armature current then

-) Nai
B) Nal,
(C) NalZ

o) Naé

Variation in speed by Ward-Leonard
control method of D.C. motors occurs due
to variation in -

(A)  Field excitation

Armature current

M) Amature voltage

(D)  Supply voltage

BRI O.
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13. o9 g 4 auf & e wiw o ] - In lap winding, the number of brushes is

‘ B AR G o, BT R alvays.., ... the number of poles.
i (A) TR : (A)  Double
’ (B)  wFH JB) Sameas
! (C)  amh (C) Half
(D) 9 A IR T8 (D)  None of these

14. UF A9 aeve oo HAN F 400 TAH 14 A lap wound D.C. machine has 400
a1 8 4a & | ufdga IRa AT &1 | 2 X conductors and 8 poles. The voltage

aiee 8| 7F gRT I fawg &7 A R - induced per conductor is 2V. The machine
. generates a voltage of
(A) 100V B 100v
B) 200V ; : (B) 200V
(©) 400V (Cy 400V
(D) 800V AP 800V -
15. o =fRa <o Ho wofig ¥ DI 3. In a DC. machine, on no load the
SERIEE) magnetic neutral axis
(A)  vofide See aer 9 X Ry (A)  Moves- from geometrical neutral
B fesn 4 Regear @ axis in the direction of rotation
(B) R % R @ e, sfdg (B) Moves from geometrical neutral
T e R Rt & | axis.in the opposite direction of
rotation
! () ';;PTI L ; @ Concides with the geometrical
: _ 3 ‘ neutral axis
(D) 9§ P A (D)  None of the abgve
16.  ®HIR fApuRads &1 gRom 2ar B 16.  Under- commutation results in
(A) 99 D 9y F Wi “"  (A)  Sparking at the middle of the brush
(B)  §% & 3 RN F wnfe - (B)  Sparking at the leading edge of the
' brush
(©) 59 & gvg AR A wfa Sparking at the trailing edge of the
brush e

(D) PR W T (D)  No sparking
17. Qoo e wifE F amfer axt @ H19 @ The armature current in a D.C. shunt

R Vv generator is given as
Eg+V : Eg+V

(A) £l A (A) oy
= E

(B) R—g : : (B) Ef
g-v www.diplomagovtjobs.in .
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(D) I+, (D) L+l
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ELECTRICAL ENGINEERING
R-L-C uRuy & .ﬂ@ﬂﬁﬁ T ured H @ The frequency at which maximum voltage

occurs across the capacitor in an R-1-C

circuit is
1
2 lgé‘) 2my/LC
2. SR R
2my/LC-C2R%/2
1 1 R2
A e
1
42 2nVLC-R2

While measuring power in a 3-phase load
by 2 wattmeter method the readings of two
wattmeters are equal and opposite when
(A)  Pfis unity
(B)  Load is balanced
(C)  Phase angle is between 60" and
3SR
‘ - The load is pure inductive
EMF induced in a coil rotating in a
uniform magnetic field will be maximum
when
(A) Flux linking with the ‘coil is
maximum
(B)  Rate of change of flux linkage is
minimum
')/ Rate of change of flux linkage is
maximum
(D)  Rate of cutting flux by the coil is
miminum
In a D.C. motor the windage losses is
proportional to
(A) Supp_ly voltage
(B)  Square of supply voltage
&) Square of flux density
8  Square of the armature speed
Pole shoe of a D.C. machine is laminated
for the purpose of

(A)  Decreasing hysteresis loss
B  Decreasing eddy current loss

(C)  Decreasing both hysteresis and
eddy current loss

(D) .Manufacturing ease

P.T.O.
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23, SO1 A% @I 9 ARG HA AF 100 A 2| 2

ErsCaliiet:ie Ban
(A) 707A
(B) 141A
(C) 150 A
(D) 282.8A
24. =1 vt Qo 90 96l @1 A 2 24.
elesin(cot+E)ﬁ€ﬂ el=Asin(mt—-Z-) o
SH A @ 919 & Belax P AE (379 )
BAT
(A w5
| | 105
' (C) - 600
A S
25. 100 & gg 9RY ) oE T fRE
g o9, fam A geid g ) ufemw A
& e &1 A BAT? 3
1
| :
| 3 6
t (SEC) —
(A) 270w
(B) 135w
(C) 52w
D) 7w
26. TS S IRPre oRuy § e oaRar 26
Sred § 1
(A) @ dem gw1 & 9= &1 B
Tl &

(B)  UdR Baex dedr 2
(C) U hgex "edr §
(D) e 3 wfed wedt ®

The rms value of a sine wave is 100 A. Its
peak value is

(A)  707A
141 A

(€ 150A

(D) 2828A

Two sinusoidal emfs are given as

e; = Asin (wt + E) and e; = Asin (wt — g)
The phase difference between the two
quantities in degrees is

il s
B) 105°
© 60
Np) 15°
The current waveform as shown in figure
is applied in a pure resistor of 10 . What
is the power dissipated in the resistor?
3 6
t (SEC) —»
wA) 270w
(B) 135w
() 52w
Dy Tw

A small capacitance is added to a highly
inductive circuit,

(A) The angle between voltage and
current will increase

(C)  The power factor will decrease

The power factor will increase

(D)  The power drawn is decrease

27. YIOIE WX BT UTaR Baer ST & 23, The power factor of a practical inductor is
(A) @ (A)  Unity :
B) I Bl  Zero
(C)  gTEIH (C) Lagging
(D) STTHT (D)  Leading

© b

w QN e & AR

(2 TR B e L §-
W WS W e s
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ELECTRICAL ENGINEERING

If an ohm meter reading immediately goes
practically to zero and stays there while
checking a capacitor, the capacitor is

(A) Leaky

Short circuited

(C)  Open circuited

(D)  Satisfactory

Soft magnetic materials have

High permeability and low
i coercive force
(B Low permeability and high
)\2 coercive force :
(C)  High residual magnetism
(D) Low resistivity
According to Faraday’s Law of
clectromagnetic induction an emf is

induced in a conductor whenever it
(A)  Lies in a magnetic field
(B)  Lies perpendicular to the magnetic
field 3
Cut the magnetic field
(D) Moves parallel to the direction of
magnetic field
Tf the two conductors .carry current in
opposite directions, there will be
(A) A force of attraction between the
_two conductors
A force of repulsion between the
two conductors
(C)  No force between them
(D)  None of the above
Inductance has the dimension of - nd

JB  Flux/ current !

(B)  Flux/length

(C)  (voltage)*/ current

(D)  None of these

The area of hysteresis loop is a measure of
(A)  Magnetic flux

(B) Permeance

(C) mm.f percycle

- Energy loss per cycle R
BE0 5

\
\
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ELECTRICAL ENGINEERING

‘Which of the following is not bilateral
element? :
Constant current source

Resistor
Inductor
(D)  Capacitor
An ideal voltage source should have
(A) Largeemf ;
B)  Smallem.f.
¥ Zero resistance
(D) None of these
Kirchoff"s voltage law is concerned with
(A) IR drop
(B) Batteryemf,
(C)  Junction voltage
both (A) and (B) :
While Thevenizing a circuit between two
terminals, Vyy isequal to
(A)  Short-circuit terminal voltage

. Open-circuit terminal voltage
(C)  Net voltage available in the circuit
(D)  E.m.f. of the battery ncarest to the
ninals . |
Cells are connected in parallel in order to
increase the '
(A)  Life of the cells
(B)  Efficiency
B Current capacity
(D)  Voltage rating
During discharging of lead acid cells, the
terminal voltage decrease with the
- decrease in
- (A)  Temperature
Discharge rate
State of charge
(D)  None of these
The potential inside a charged hollow
sphere is

O Zero

BB  Same as that on the surface
(C)  Less than that on the surface
(D)  None of the above
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ELECTRICAL ENGINEERING

The direction of induced e.m.f can be
found by
(A)  Laplace’s Law
J{B)  Fleming’s right hand rule
(C)  Kirchhoff’s Voltage Law
(D) Lenz’sLaw

Resistance of copper wire always increase if

(A)  temperature is reduced

. temperature is increased

(C)  number of free electrons available
becomes more

(D)  None of the above

Two wires A and B of the same material

and length 1 and 2! have radius r and 2r

respectively. The ratio of their specific
resistance will be

151
142

(€) 1:4
(D) 148 :
Ohm’s law in point from in field theory
can be expressed as
J#l V=RI
E
® J==
(O I=cE
L
D) R=p=<
Which of the following relation is not correct
v
(a) P=2
(B) "R
g
© = J:
@ v-vPR
- In the figure below the value of R is

8A R
— > AN ———,

8 100V . 100% 100
(A) 250
B) = 5.00 '
7.5€) ’
D) 10.0Q \
s PTO
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ELECTRICAL ENGINEERING

The retentivity (a property) of material is
useful for the construction of
(A)  transformers -
(B)  non-magnetic substances
J permanent magnets
(D) electromagnets
Which" of the following materials are
diamagnetic?
(A)  copper
(B)  silver-copper
silver
(D)  iron
Temporary magnets are used in
(A)  generators
(B)  loud speakers
(C)  motors
Y,\_l’ all of the above
The unit of magnetic flux is +
(A)  henry
(B)  ampere/meter
weber
(D)  ampere turn/weber

A material for good magnetic memory
should have '

(A)  low hysteresis

(B).  high permeability

." high retentivity

(D) low retentivity

.~ Unit of reluctance is

. ampere-turns/weber
(B)  weber 3
(C)  meter/henry
(D)  henry/meter
Higher the self-inductance of a coil,
(A)  lesser its weber-turns
(B)  lower the e.m.f induced
(C)  greater the flux produced by it

longer the delay in establishing
steady current through it
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54. ?’aﬁﬂ Aol vd ﬂ'@'ﬂﬁ’ﬂ ae ?ﬁ SO, 54, The ratio of intensity of magnetization to-
o w0 # o 9T ' % the magnetization force is known as =~
(A) YoIdd g+ (A)  flux density
(B) wafeffd B suscepbility
(C) omifers TR ) relative permeability
- (D) =Y BIE T8I ! (D)  none of the above
55. ANES IRTRA O SHE © — 35.  The unit of relative permeability is
(A) =8 /4R , (A)  henry/meter
(B) TN (B) henry
(C) & /T #Are” (C)  henry/sq.m
(D) = =M : BB it is dimensionless
56. Nﬂﬂ'ﬁaﬁ'ﬂ yere! P Ui UGl - 56,  Paramagnetic  materials  have relative
- . X permeability
(A) TF 4 oISl FH ) slightly less than unity
(B) [T 1 el ofds slightly more than unity
(C) UF @& TR (C)  equal to unity
(D) diE gEoy gl o JEH (D)  equal to that of ferromagnetic materials
57. SR & & fwm A ﬂﬁ‘rﬁ gfi?ﬂ fira 57. In the left hand rule, forefinger always
. HE B - o represents
(A) fra (A)  voltage
(B) w=ied W A & fewm (B)  direction of force on the conductor
(O =X (C) . “curcent
D) FToI &F . magnetic field
58. U chol SNEX & — 58." One telsa is equal to
(A) 1 a /i ~  (A) ] Wb/mm®
B) 1IR/ A 1 Wh/m®
(C) 1 el R /Y _ (€©) 1 mWb/m®
(D) 1 IR/A . (D) 1 Wb/m
59, ©S faga g . H 50 B € R 1 59. The eclectromagnet has 50 turns and a
~ oRER @) g owaed B Yer B af® VY current of 1A flows through the coil. If the
gRuer &1 owTE 200 o €, o length of the magnetic circuit is 200 mm,
' gﬁ?ﬁm &3 DI e fhasr 2R 2 what is the magnetic field strength?
~ (A) 2500 TR e+ /HIeR (A) 2500 AT/m
(B) 25 TR o /#Hiex (B) 25AT/m
(C) 250 TR T+ /HTeR W 250 AT/m
_ (D) 25 UfFER T+ /AR (D) 25AT/m
60. @dlc  qrell . gHEd @ A square cross-sectional magnet has a pole
¢ ﬁ’-ﬂ?ﬁ OIe & 1x10 8% & UG 37uve strength of 1 x 10 Wb and cross sectional
FIE & AT d 20 AHIx20 A4 81 ga1 A . area of 20 mm x 20 mm. What is the
g@Is Ui ¥ 100 A @ g0 R &Een strength at a distance of 100 mm from the
e ? unit pole in air?
© (A) 6338 o /AR (A)  63.38 N/Wb
(B) 63380 =0 /TR (B) 63380 N/Wb
(C) 63338 =0 /Jax .- ) 633.38 N/Wb
(D) 6338 o /TR J  6338N/Wh
91 - 15‘% W ” T < 5”
, L TR AT wsn ;
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Srgifagsd Rerie &1 7 w7 € ?
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ELECTRICAL ENGINEERING

Voltage applied across a ceramic dielectric
produces an electrolytic field 100 times
greater than air. What will be the value of
dielectric constant?

3 100
(B) 150
(C) 200
D) 250

Which of the following materials has the
highest value of dielectric constant?

ceramics
B) ol
(C) glass
J@j’ - vacuum
Electric field intensity is a quantity of
A scalar :
\,H vector
(C)  both (A) and (B)
(D)  none of the above

The capacitor preferred for high frequenc y
circuits is
air capacitor

(B)  electrolytic capacitor
(C)  mica capacitor
(D)  none of the above

The surface integral of the normal
component of the electric displacement D
over any closed surface equals the charge
enclosed by the surface. This statement is
associated with

(A)  Faraday’s law
Gauss’s law

(C) Lenz’slaw

(D)  Kirchhoff’s law

The unit of dielectric strength is given by
v/im

(B) v¥m

(G Smly

D) mi?

The bridge used for the measurement of
the value of the capacitance is

(A)  Wien’s bridge
(B)  Wheatstone bridge
Schering bridge
(D)  Hay’s bridge
(33\03 [
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“ 75, - For testing appliances, the wattage of test
N lamp should be
j{r) very low
W high
(C)  medium
X (D) very high
7\9, Two lamps 100 W and 40 W are
~ connected in series across 230 V. Which
. of the following statement is correct?
B 40 W lamp will glow brighter
"(B) 100 W lamp will glow br1ghter' :
(C) Both lamps w1ll glow equally
- bright
(D) 40 W lamp will fuse
77 A 40°'W bulb is connected in series with a
room heater. If now 40 W bulb is replaced
by 100 W bulb, heater output will
(A) d{-:creése
(B)  remain same
(C)  heater will burn out
: - increase
78, ¥f a wire cond}lctor of 0.2 (?hm res:listan'ce
is doubled in length, its resistance
"~ becomes :
- 0.4.0hm
(B) 0.8 ohm
(C) 0.6 ohm
(D) 1.2 ohm
79, The rating of a fuse wire is always
expressed in _ _
(A)  amperes-hours
(B) kWh
Bl amperes
(D)  amperes-volts
B80. Superposition theorem can be applied only
to circuits having
(A)  resistive elements
(B)  passive clements
,. lincar bilateral elements
(D)~ non-linear elements
56
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ELECTRICAL ENGINEERING

Damper winding used in synchronous
motor to- ;
Stabilized rotor motion

(A)
(B) Suppress rotor oscillation
(C)  Develop necessary starting torque

JB Both(B)and (C)
s
AT

Skin effect results-
Resistance in ac>resistance in de

(B)  Resistance in ac=resistance in dc

(C)  Resistance in ac<resistance in dc

(D)  None of these

An instrument which detects electric
current is known as :

(A) Voltmeter

(B)  Rheostat

(©) Wattmeter

. Galvanometer

The resistance of a parallel circuit

consisting of two branches is 12 ohms, If
the resistance of one branch is 18 ohms,
what is the resistance of the other?

(A) 18 ohm

(B) 48 ohm .
36 ohm

(D) 64 ohm

Which of the following material has nearly
zero temperature co-efficient of resistance?

(A)  Porcelain
Manganin
(C): Copper
(D) Carbon
One newton meter is same as
(A)  five joules
(B) . one watt
one joule
(D)  one joule /second

The force experienced by a current
carrying conducter lying paralled to a
magnetic field is -

Zero
(B) BI¢
(C) BIfsin 6
(D) Bl cos @
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ELECTRICAL ENGINEERING

\}. Cathode of CRO is coated with-

(A)  Alkali material
{(B)  Thorium oxide
Copper oxide
(D)  Barium oxide _
89. A CRO can be used to measure-
: (A) a.c. voltage
(B)  d.c. voltage
i@ Frequency
\H’ All of the above
w90.  Transformer has maximum efficiency when-
'L!" Cu loss= iron loss
(B)  Iron Core loss=0
(C)  Culoss=0
(D)  None of the above
2]/ The active materials of a nickel-iron
battery are
(A) nickel hydroxide
(B)  21% solution of KOH
C)  powdered iron and its oxide
all of the above
2,, Hysteresis loss depends upon-
(A)  Frequency
B)  Voltage
~ Both (A) and (B)
(D)  None of the above

58

\9/}: Change in excitation of synchronous
motor result-

(A)  Change in motor speed
) Change in power factor
(€)'  Both(A) & (B)
(D)  None of the above
\9}4 V curve of synchronous motor re]ates-
(A)  Field current and Power Factor
(B)  Armmature current and voltage
(€C)  Excitation current and back emf.
de field current and ac cammeter
current
e Whlch type of motor is used in small toys-
Shaded pole
(B)  Repulsion
(C)  A.C. series motor
(D)  None of the above
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ELECTRICAL ENGINEERING

For accuracy of the instrument which is
necessary- :

(A)  Conformity
(B)  Precision
\- Both
(D)  None of the above

At which angle in two wattmeter method,

one wattmeter show zero readings-
(A) @=0
. ®=60
Q) “D=90
(D) @=45

Which power factor results equal reading’
of both wattmeter in 2 wattmeter method-

A W Al Unit
(B) e (B) Half ~
(© = () Zero
(D) SWIA ¥ DS T8 (D)  None of the above
seoeT I @ ¥ I qeme 9%  Which torque i§ essential for indicating
MELIS B o : instruments -
(A) foRemgs g (A)- Deflecting
(B) M=% gargf (B) Controlling
(C) 3w=<a Fargol (C)  Damping
(D) SR H 9 All of the above
gRT gRunfAE H- , 199 In current transformer-
(A) fedims @ued 9= 8 =Afdy JB Secondary winding must be closed
(B) faciae @usell gell g =1fey (B) . Secondary winding must be open
(C) vrfs gHusel g ) @By (C)  Primary winding must be closed
(D) wAfEe FHoee Gell B ey (D)  Primary winding must be open
RSB 189 T Fel IUAN BRl - \19]r Rectifier type instrument can be use in-
geradi HRT JB ac
B) Reur (B) dec.
(C) Aa®zTHA#H (C)  Both (A) and (B)
(D) YAl grT H (D)  Pulsating
;‘l_?FI'H‘f Hex TRY T PEl SYAN BN L(_))./Dyna.momet_er type of instrument can use
; in- ca
(A) wamEd oR (A) ac.
(B) fReeurr (B) de
(© @a®B)THEH @ Both(A)and (B)
(D)  Pulsating

(D) UcAfeT anT H

39
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ELECTRICAL ENGINEERING

A Copper wire having resistance RQ. If its
length doubled and radius becomes half

\19«

amft Hx & S G AT gk EN— then new resistance will be-
1 1
Ar & £
(B) 4R (B) 4R
1 i 1
) (L) e
(D) B8R : 8R
5 o= &1 YA TG BT 2 104. Which instruments have uniform scale-
A) &1 s g Spring control instrument
B) U s g= ) Gravity control instrument
(C) (A)3R(B)gHl ¥ (C)  Both (A) and (B)
(D) SWEd F H B Tal (D)  None of the above
qre—gvel I3 fFd yHR &1 & €| 105. Watt-hour instrument is the type of-
(A) gEm@BfeT : (A) Indicating
(B) snifeT Integrating
(©) RarfEr (C)  Recording
(D) TRE F F DS el (D)  None of the above
Tl <18y I Pl AT Bl & 196 Induction type instruments are used in-
(A)  wIEdr g # B AC
(B) - fo= umr # @) . DC
(C) ==iH (C) Both
(D) SRIE H H B T8l (D)  None of the above
IR B WY 9 B gRT g o 107. Range of ammeter can extend by
@ b connecting-
(A) 3FeR & HAR H e TEaN a Shunt parallel to ammeter
(B) - 3FeR @ A9 # e amaR \& a Shunt in series to ammeter
(C) oPfer & IR W TUE AR (C)  aMultiplier parallel to ammeter
(D) omier @& Hofl # Torp STHR - (D)  aMultiplier in serics to ammeter
fom o=t & ey =il = B e y Which type instruments have hysteresis
(A) THOHO loss zero-
(B)  THosTEo ME
) X0 Bo
(D) T PrE T (D)  None of the above
P AT AqAGE FIY AfTF &7 Bl 2— 109. Which damping is most efficient-
(A) drg saHed V' (A)  Air friction
(B) @ JgA=dH (B)  Fluid friction
(C) ¥R gNI 3dH<d " Eddy current -
(D) SURIGT W H DIy el (D)  None of the above
Hogae foet forgat 9w § wART 8T 2 \1}0 Maxwell bridge is used to measure
(A) WR&E Inductance
(B) e (B)  Capacitance
(C) gl (C)  Frequency
(D) SRE F H Pl ABl (D)

None of the above

60
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ELECTRICAL ENGINEERING

M. Internal resistance of an ideal ammeter is-

Zero
(B) Infinite
(C) = Small
(D) Big

112. One KWh of energy equal fo-

A)  1000W
. 860 K cal

) 4186
(B 735V A
113.  Unit of absolute permittivity is -
(A)  Joule/Coulomb
(B) Newton-meter

- Farad/meter

(D)  Farad/Coulomb
114. Which is known as electrical inertia-

g I

() ;
(D). None of the above
115. Direction of induced e.m.f. can be found
Ny
(A) Lenz’slaw
(B) Fleming’s R.H.R.
Both (A) and (B)
(D)  None of the above
\/ﬁ Reciprocal of admittance is
(A)  Resistance
(B) Inductive reactance
(C) Capacitive reactance
Impedance .
\/7 Phasor quantities have-
Amplitude and direction both variable
(B) Amplitude and direction both constant
(C)  Amplitude variable, direction constant

(D)  Amplitude constant, direction variable

118+ Which is correct in ac system-
(A)- r.m.s. value= average value

(B) r.m.s. value= -—E average value

r.m.s. value= ﬁ average value
&'

None of the above
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ATeAPA] B AIFAG Bl 8- 119. Unit of ¢onductance is-
A = R AN mho
(B) #H== AP  siemens
() = a8l both
(D) SR § Q BIE T8l (D)  none of these
PAAF & TH HI IR AP FoRe— 120.  On heating insulator resistance-
(A) 9%l 8 ] A (A) Increases
(B) ®carsw ] (B)  Decreases
(€ Remzwmams : ‘ Remain Constant
(D)  (A)3R(B) sHI - (D)  Both (A) and (B)
BIF-H HUF HG B7? 1\21/ Which statement is true-
(A) <Y uRuy &1 yftRy *AA ﬁm i ' (A)  Short circuit has zero resistance
(B) ol yRuy &1 gfdRly o ﬁ?ﬂ e (B)  Open circuit has infinity resistance
(©) (A) 3R (B) g1 = - /@ Both(A)and (B)
(D) HIE A8 ; (D)  None of the above
f Tered @1 A e W _E?IT*TT \1}2 Which material have negative temp.
gl coefficient.
(A) 9™ (A) Brass
(B) dfar (B) Copper
(©) vgHifsEn (C)  Aluminium
(D) @®TES B Carbon
T Ufenredt Ry # gray $aey B A 123, In pure resistive circuit power factor will
BT 21 vt be ; '
A T ‘ I One
B) T3 (Byi-"Zeto
(C) 3 (C)  Infinity
(D)  ofen (D)  Half
JEIRITYT BT Y9I &1 yarT g afkuer # 124,. Super position theorem is applicablé only-
BT B v
(A) g gRuer (A)  Non linear circuit
B) &g gfRgy \. Linear circuit
(C)  ufoRe gRyey (C)  Resistive circuit
(D) ffwa ooy (D)  Passive circuit
g aRdm uRuy # g1 & 9N 125 In pure capacitive circuit angle the voltage
dleedl @1 HIF 81T B | _ with respect to current is
' e (A . O
(B) 90" 30T (B) 90 leading
(C) ~ 90" gz=FIHI e B 90 lagging
(D) SWRET H F DIE T8 (D)  None of the above
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